Suppose we want to determine the variables that determine how often people attend soccer games. The provided SPSS File includes both soccer and hockey data. Variable V15 codes soccer responses as 1 and hockey responses as 2. Make sure you choose only soccer responses for your assignment. The soccer survey data was obtained from a survey of people who were attending soccer games. 
Your task is to run a hierarchical regression where V01 is the dependent variable. The independent variables are the following. 
Model 1 includes the following variables: V06A, V06B, V06C, V06D, and V06E. 
Model 2 includes the following variables: V06A, V06B, V06C, V06D, V06E, V07A, V07B, V07C, V07D, and V07E. 
Model 3 includes the following variables, V06A, V06B, V06C, V06D, V06E, V07A, V07B, V07C, V07D, V07E, V02, V03, V04, V05, and V14. 

Please run the hierarchical regression and answer the following:
1. Provide a proper hierarchical table with the results.

2. Is there a problem with multicollinearity with each model? Use the VIF and tolerance tests.
3. Explain the overall significance of each model. What is the meaning of this overall significance? Explain how the overall model significance changes as you add more variables in each model.

5. Explain the R2 of each model, how R2 changes, and the meaning of such a change.

6. Explain the significance level of each regression coefficient. 
7. Why do regression coefficients change from one model to another? Explain the meaning of the regression coefficients in model 3. 
8. Provide an overall discussion and conclusion of the findings including the dummy variables. Using the criteria for a good regression model, discuss if this is a good regression model.
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